Oesign Roof

18 Cpac Monier WA 33 x 42 Cx 8 0.3Z m. (4.4 Kg/ulu)

Te OE W AU o= 1.00 m
DL = d.d50.32 = 17 Kg/m
LL = 30 Kegdnm
W = 17 + 30 = 47 Ke/m
M = L/s w/?
= L7 (4736112 = 6 Kg-uw

Use : L 25x25x3 mm. (1.12 Kg/m)
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30 Kg/o?
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Area for Loading
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fh =
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: 2[1150 x 50 x 20 x 2.

= 3.00 x 3.00 m.

= 4.4 x 11 = 530 Kg/m?
= 0 Kg/mi

= 10 Kg/m

= (30 + 303{3.00} + 10
= 250 Kg/m

= 1 wL?
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Design Slab
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Slab On Beam

Depth = 0.10 m
. = 390 Kg/m? '
c = 0.0530
M = oWt

= (0.050}(390}(3.00)2
= 175 Kg-m ¢ Mr
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BEAM NO. Bg PAGE NO.
SECTION = x40 Ca
SPAN = 200 i
u - S6a Keg/m
M = 1/11 w L?
= 461 Kg-m ¢ Mr
As = Mx100
fEs}(j){d)
- 1.03 Cm?
¥ = WLl
= B4 4 g < Ve
Vi = Kg
USE ; 1 0812 mm
. d £6 mm 8 0.20 m
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BEAM NG. Bo CODE NO. €]
SECTION = 15 % 40 £m
SPAN = 1.00 !
W = T8 Kg/=
g = 527 Kg
M = 177 WLZ + DI,
= g3z Eg-& < Mr
As = W*100
(Eslljsgd)
= 2,00 Cm?
¥ = WL + I
= 1257 Ka %
¥l = Kg
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"BEAM NO. B4 CODE NO. st

SECTION = 15 ¥ 40 ° Co
SPAN = 2,50 ™
W = 1,764 Kg/a
M = V11w Lt
. 10072 ' Kg-m < Mr
As = M*100
[f=){j)d}
= - 2.24 Cu?
v = W Ls/:
= 2205 Kz _> ¥c
¥ = 320 Kg
USE : P 12 As = 2,06 em?
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BEAM NO. . B

CODE NO._ 23
BECTION = 15 ¥ 4D Co
cral = 1.00 m
¥ = 1218 RKg/m
= __1222 Kg
M = 17z WL + DL
= 1821 Eg-m < Mr
AS = H*108
(fsi{jiia)
= 4,10 Cg?
e
v = WL + F
= 2440 Kg 3 Ve
TP 1.1 Kg
USE ; ) pp 17 + 1 DB 16 (A = 4.27 cml}
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BEAM N . Bz CODE NQ.__S3

15 X 40 Cm

SECTION =
SPAN = 3.5 a
w - 1360 Kg/m
M = VA ow L2
= 1515 Kg-o ¢ Mr
As = M*l00
(f=){j){d}
B = 3.39 Cm?
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EEAM KO. CODE NO._ §3
SECTION = 15 ¥ 40 Cm
SPAN = 3,00 o
W = 2338 Kg/a
M = /11 w L2
= 1828 Kg-m < Mr
As = Mx100
{fs}lid{d}
= 4,08 Cm?
v = W T.JI,.f2
= 1348 KEg _ > Ve
V! = 1463 Kg
USE ; 2 DB 12 + ] DB 16 (As = 4.27 cmi}l
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pEAN ND._— Bg CODE NO._ §5
SECTION = 15 = 40 Cm
STAR = 3.50 m
W = azas Keg/m '-
M = /11 w L*
= 2488 Kg-m > Mr
Ast = Mr=l0Qd + {M—Mr %100
{faiijt(d) fa (d-d’ )
= 5.56 Ca?
Asc = '/z (M-Mr3*100 1-k
. fs [d-d"} H-""h)
= 1,492 Cm?
v = W ki
= 29086 Kg 3 Vi
':'rl = ‘?Q‘:] KE
USE ; _Ast : 5 DB 12 {As = 5.6 pmdd
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BEAX NO. Bs

CODE NO.__ 37

SECTION = 13 X 45 Cm
AN = 4.0 m ]
. = 2232 Kg/n
M = VAl ow L2
= a247 Kg-m » Mr
Ast = Mr*1Q0 + {M-Mr)*100
(fs)ig)id) fa {d-d")
= 7,25 Cu?
Asc =1/ {H—Hr]*lﬂﬂ( 1-k ‘||
fs (d-d’) \K-1"/a/
= 4.40 Cal
v = WoL/2
= 4464 ke > Vi
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BEAM NO. prahad Pabs U,
; SECTION = 15 x Ao Ca
SPAN = 2.55 u
W = 2,039 stcg:
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¥ =
= 4845, Ky > Vo
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BEAM NO. Bz CODE NQ._ §32
SECTION = 15 % 40 Ca
araN = 3.00 E .
W = 2232 Kg/m
M = T/ w L%
= 1226 KEg-m ¢ Mr
As = M%100
(Eadfjtid)
= 4,08 Cm? -
¥ = W NMj2
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Max Load | = 11,30¢ EKg

Choose: Section 12 x 15 Co
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Max Load .= 15,000 EKg

Choocse: Section 15x'3 Cm

Pz = 2ax

As . = DPg Ag
= (0.035)(15x19}
= 7.9 Caf

Use 4. DB_12 + 2 DB 16
U 5 W@ _2.15
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Max Load =

Choose Sectiom 20
PE . =
u ]

Use - 4 DB 12

17.000 K2
x 20 Ca

1.13 %

Pg AZ

©.0113 (20x20)
4.52 Cm*’
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Max Lomd . = 2004060 Kg
Choose: Section _20=20 Ca
Pg = 1.;3;
JAB = Pg Az

I

(0.021) { 20x20}
- B: 40 Ca?

Use 4 DB_12 + 2 DB 1§
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DESIGNED AS A CIRCULAR TIED COLUMN AND CONCENTRIC LCAD

COLUMN LOAD
SIZE OF COLUMN
YERTICAL BARS
BINDERS
ALLOWABRLE LOAD

i
20
6 DB
RBE & MHM.
0.85(0.25 X
18137

COLUMN NUMBERE C 2

100
CM.
12
AT

175
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KG.

* DIAMETER
MM
SPACING 15 CM.
314 + 0.4 X 2800 X
>
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6.78)



: ] E t + .

Choose I _13*13*1{].0{} .
 Max Allow Load = 5,000 K.
Use : FIWIINIUIA 40%40%40 Cnm.
' As = 0.0025 bt
= (0.0025)(40)(20)
= 2 Cm?
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I
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Choose

Design Footing

[ 18*18*15.00 m.

Max Allow Load = 12,000 HKe.
Use ! FIUIINHUE d0*40%40 Cm,
As = 0.0023 bt
= {0.0025)(40}1(20)
= 2 Cm?
Use 3 RE 9¢
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;
0,40 +++
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I
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3 re o

T &) RE & $mau
0.20
0.20
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Welght From Column = 20,000 Keg
Choose I 18#18%16.00 m IWI 2 U

Max Allew Load = 24,000 Kz
¥ 9U MU, #uay 10,000 Kg
M = (10,000} (0.60 - 0.15) = 2250 Kg-m
d = M 2
b

(2250} (100)
(10.26)(40)

23 Cm
|Han1E5 S0 W 40 Ce d = 35 Ca

WITHOUTY L iy

SEUs 0,35 m FINVDUIAT iDL Critical Section

0.35 - 0.%225

Center (DiNT4
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10,000 {-12.5 + 15) = 828 Kg
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v = 828
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0.50 Kg/ca? < &.29\[;;T-=3.34 Kg/Ca?



RRasanfsene d/; 30wy AN

d/z = 17.5 MBIUBLRAD
. @11 5119970 Critical Section = 0.05 Ca
B’ = P (X + 13)
30
. s
10,000 \(5+15)
30
= §.667 Ke

WA U3 939§U5IN Critical Section ¥ = 15435 = 50 Kg

¥y = P' = 6867 Kg
v = v
bd

= 6567 = 4.76 Rg/Cm? = < 0.53{fc’ = 7.01 4Cn

(40](35)
-¥:} = M
fsijd
= (2250) (100) = 5.17 Cm?

{1400) (0.887) (35)
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